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1	
  

Questions	
  pour	
  la	
  consultation	
  –	
  Débat	
  Citoyen	
  Planétaire	
  (World	
  Wide	
  Views)	
  sur	
  le	
  
Climat	
  et	
  l‘Énergie	
  2015	
  
Sauf	
  indication	
  contraire,	
  une	
  seule	
  réponse	
  par	
  question	
  	
  
	
  
1.	
   L’importance	
  de	
  lutter	
  contre	
  le	
  changement	
  climatique	
  
Ce	
  volet	
  concerne	
  la	
  situation	
  actuelle	
  et	
  l’importance	
  que	
  les	
  personnes	
  attribuent	
  à	
  l’action	
  pour	
  
lutter	
  contre	
  le	
  changement	
  climatique	
  et	
  au	
  besoin	
  de	
  faire	
  la	
  transition	
  vers	
  une	
  	
  économie	
  bas-­‐
carbone.	
  

1. 	
  À	
  quel	
  point	
  êtes-­‐vous	
  préoccupé	
  par	
  les	
  conséquences	
  du	
  changement	
  climatique	
  ?	
  
a. Très	
  concerné	
  
b. Moyennement	
  concerné	
  
c. Pas	
  concerné	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
2. Selon	
  vous,	
  les	
  mesures	
  pour	
  lutter	
  contre	
  le	
  changement	
  climatique	
  :	
  

a. Sont	
  pour	
  la	
  plupart	
  une	
  atteinte	
  	
  à	
  notre	
  qualité	
  de	
  vie	
  
b. Sont	
  pour	
  la	
  plupart	
  une	
  opportunité	
  pour	
  améliorer	
  notre	
  qualité	
  de	
  vie	
  
c. N’auront	
  aucune	
  incidence	
  sur	
  notre	
  qualité	
  de	
  vie	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
3. Selon	
  vous,	
  sur	
  quoi	
  les	
  efforts	
  mondiaux	
  devraient-­‐ils	
  se	
  concentrer	
  dans	
  les	
  prochaines	
  

décennies	
  ?	
  
a. Ils	
  devraient	
  se	
  concentrer	
  principalement	
  sur	
  l’adaptation	
  au	
  changement	
  climatique	
  	
  
b. Ils	
  devraient	
  se	
  concentrer	
  principalement	
  sur	
  l’atténuation	
  	
  
c. Ils	
  devraient	
  se	
  concentrer	
  de	
  manière	
  égale	
  sur	
  l’adaptation	
  et	
  l’atténuation	
  
d. Ils	
  ne	
  devraient	
  se	
  concentrer	
  ni	
  sur	
  l’adaptation	
  ni	
  sur	
  l’atténuation	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
4. À	
  votre	
  avis,	
  les	
  résultats	
  des	
  négociations	
  des	
  Nations	
  Unies	
  sur	
  le	
  climat	
  depuis	
  1992	
  ont-­‐ils	
  

assez	
  fait	
  pour	
  lutter	
  contre	
  le	
  changement	
  climatique	
  ?	
  
a. Oui	
  
b. Non	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
5. Quel	
  est	
  le	
  degré	
  d’urgence	
  pour	
  que	
  le	
  monde	
  réagisse	
  afin	
  de	
  lutter	
  contre	
  le	
  changement	
  

climatique?	
  
a. Le	
  monde	
  devrait	
  décider	
  à	
  Paris	
  de	
  faire	
  tout	
  ce	
  qui	
  est	
  en	
  son	
  pouvoir	
  pour	
  limiter	
  un	
  

réchauffement	
  de	
  la	
  température	
  moyenne	
  à	
  2	
  degrés	
  Celsius	
  	
  
b. Le	
  monde	
  devrait	
  prendre	
  des	
  mesures	
  ambitieuses,	
  mais	
  pas	
  à	
  tout	
  prix	
  
c. Le	
  monde	
  devrait	
  adopter	
  un	
  objectif	
  qui	
  ne	
  modifiera	
  pas	
  de	
  manière	
  considérable	
  

l’état	
  actuel	
  des	
  choses	
  	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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6. À	
  votre	
  avis,	
  qui	
  devrait	
  être	
  essentiellement	
  responsable	
  pour	
  la	
  lutte	
  contre	
  le	
  changement	
  

climatique	
  ?	
  
Sélectionner	
  jusqu’à	
  2	
  réponses	
  	
  
a. Il	
  s’agit	
  essentiellement	
  d’une	
  responsabilité	
  mondiale	
  (à	
  travers	
  un	
  accord	
  international	
  

ou	
  un	
  traité	
  sur	
  le	
  climat)	
  
b. Il	
  s’agit	
  essentiellement	
  d’une	
  responsabilité	
  des	
  citoyens	
  et	
  des	
  initiatives	
  de	
  la	
  part	
  de	
  

la	
  société	
  civile	
  
c. Il	
  s’agit	
  essentiellement	
  d’une	
  responsabilité	
  des	
  gouvernements	
  nationaux	
  
d. Il	
  s’agit	
  essentiellement	
  d’une	
  responsabilité	
  des	
  autorités	
  locales	
  
e. Il	
  s’agit	
  essentiellement	
  d’une	
  responsabilité	
  des	
  entreprises	
  et	
  du	
  secteur	
  privé	
  
f. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
2.	
   Les	
  outils	
  pour	
  lutter	
  contre	
  le	
  changement	
  climatique	
  
Ce	
  volet	
  concerne	
  les	
  divers	
  outils	
  pour	
  réduire	
  les	
  émissions	
  de	
  gaz	
  à	
  effet	
  de	
  serre.	
  
	
  

1. Seriez-­‐vous	
  en	
  faveur	
  d’une	
  taxe	
  carbone	
  ?	
  
a. Oui,	
  pour	
  tous	
  les	
  pays	
  
b. Oui,	
  pour	
  tous	
  les	
  pays,	
  mais	
  avec	
  des	
  coûts	
  qui	
  augmentent	
  progressivement	
  pour	
  les	
  

pays	
  qui	
  ne	
  réduisent	
  pas	
  leurs	
  émissions	
  
c. Oui,	
  en	
  fonction	
  du	
  niveau	
  de	
  développement	
  des	
  pays	
  
d. Non,	
  je	
  ne	
  suis	
  pas	
  en	
  faveur	
  de	
  ce	
  type	
  de	
  taxe	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
2. Lesquelles	
  de	
  ces	
  approches	
  préférez-­‐vous	
  afin	
  de	
  réaliser	
  des	
  réductions	
  importantes	
  

d’émissions	
  de	
  gaz	
  à	
  effet	
  de	
  serre	
  ?	
  
Sélectionner	
  jusqu’à	
  2	
  réponses	
  	
  
a. Un	
  soutien	
  pour	
  la	
  recherche	
  et	
  le	
  développement	
  des	
  énergies	
  à	
  faible	
  émission	
  de	
  

carbone,	
  par	
  exemple	
  la	
  recherche	
  concernant	
  des	
  batteries	
  de	
  voiture	
  plus	
  efficaces	
  	
  
b. Une	
  tarification	
  du	
  carbone,	
  par	
  exemple	
  à	
  travers	
  des	
  taxes	
  sur	
  les	
  émissions	
  de	
  

carbone,	
  ou	
  les	
  systèmes	
  d’échange	
  de	
  quotas	
  d’émission	
  
c. Une	
  réduction	
  des	
  subventions	
  attribuées	
  aux	
  combustibles	
  fossiles	
  
d. Le	
  subventionnement	
  des	
  	
  énergies	
  à	
  faible	
  émission	
  de	
  carbone,	
  par	
  exemple	
  les	
  	
  

énergies	
  éolienne,	
  solaire,	
  marines	
  ou	
  géothermale	
  
e. La	
  mise	
  en	
  place	
  de	
  nouvelles	
  normes,	
  afin	
  d’améliorer	
  par	
  exemple	
  l’efficacité	
  

énergétique	
  des	
  voitures,	
  des	
  bâtiments	
  ou	
  des	
  appareils	
  	
  
f. La	
  création	
  de	
  nouvelles	
  institutions	
  et	
  pratiques	
  socio-­‐économiques,	
  comme	
  

l’investissement	
  dans	
  les	
  systèmes	
  de	
  transport	
  public	
  ou	
  la	
  consommation	
  de	
  produits	
  
alimentaires	
  locaux	
  

g. Il	
  ne	
  faut	
  pas	
  faire	
  de	
  réductions	
  importantes	
  des	
  émissions	
  de	
  gaz	
  à	
  effet	
  de	
  serre	
  	
  
h. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  



World	
  Wide	
  Views	
  2015	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  

3	
  

3. Selon	
  vous,	
  quelles	
  solutions	
  seront	
  les	
  plus	
  efficaces	
  pour	
  répondre	
  au	
  problème	
  du	
  
changement	
  climatique	
  ?	
  
a. Des	
  solutions	
  appliquées	
  au	
  niveau	
  mondial	
  
b. Des	
  solutions	
  appliquées	
  au	
  niveau	
  national	
  
c. Des	
  solutions	
  appliquées	
  au	
  niveau	
  local/niveau	
  infranational	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  
	
  

4. Selon	
  vous,	
  lesquels	
  des	
  outils	
  suivants	
  sont	
  adaptés	
  à	
  la	
  réduction	
  du	
  niveau	
  d’émissions	
  de	
  
gaz	
  à	
  effet	
  de	
  serre	
  
Sélectionner	
  jusqu’à	
  2	
  réponses	
  	
  
a. Les	
  programmes	
  	
  éducatifs	
  sur	
  le	
  changement	
  climatique	
  destinés	
  au	
  grand	
  public	
  
b. L’application	
  de	
  solutions	
  développées	
  selon	
  les	
  savoirs	
  traditionnels	
  et	
  autochtones	
  	
  
c. Les	
  initiatives	
  visant	
  à	
  renforcer	
  l’égalité	
  des	
  sexes	
  	
  
d. D’autres	
  initiatives,	
  conventions	
  et	
  programmes	
  de	
  l’ONU	
  
e. La	
  protection	
  des	
  forêts	
  tropicales	
  
f. Aucun	
  de	
  ces	
  outils	
  n’est	
  adapté	
  
g. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
5. Comment	
  le	
  monde	
  doit-­‐il	
  traiter	
  les	
  explorations	
  pour	
  trouver	
  de	
  nouvelles	
  réserves	
  de	
  

combustibles	
  fossiles	
  ?	
  	
  
a. Arrêter	
  toute	
  exploration	
  pour	
  trouver	
  des	
  réserves	
  de	
  combustibles	
  fossiles	
  	
  
b. Arrêter	
  uniquement	
  les	
  explorations	
  pour	
  trouver	
  du	
  charbon	
  
c. Le	
  monde	
  devrait	
  continuer	
  les	
  explorations	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
3.	
   Les	
  négociations	
  des	
  Nations	
  Unies	
  et	
  les	
  engagements	
  nationaux	
  
Ce	
  volet	
  concerne	
  la	
  question	
  de	
  savoir	
  si	
  les	
  contributions	
  nationales	
  en	
  faveur	
  du	
  climat	
  devraient	
  	
  
être	
  obligatoires,	
  et	
  si	
  les	
  engagements	
  relatifs	
  à	
  l’adaptation	
  et	
  l’atténuation	
  doivent	
  être	
  pris	
  au	
  
niveau	
  national	
  ou	
  relever	
  de	
  la	
  responsabilité	
  mondiale.	
  
	
  

1. Quelles	
  étaient	
  vos	
  connaissances	
  relatives	
  au	
  processus	
  d’accord	
  international	
  sur	
  le	
  climat,	
  
avant	
  de	
  rejoindre	
  le	
  projet	
  du	
  Débat	
  Citoyen	
  Planétaire	
  (World	
  Wide	
  Views)	
  ?	
  
a. Je	
  ne	
  connaissais	
  pratiquement	
  rien	
  
b. J’avais	
  très	
  peu	
  de	
  connaissances	
  
c. J’avais	
  quelques	
  connaissances	
  
d. J’en	
  savais	
  déjà	
  beaucoup	
  	
  
e. J’étais	
  déjà	
  expert	
  en	
  la	
  matière	
  
f. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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2. Et	
  maintenant	
  ?	
  	
  
a. Je	
  ne	
  sais	
  toujours	
  pratiquement	
  rien	
  
b. J’ai	
  très	
  peu	
  de	
  connaissances	
  
c. J’ai	
  quelques	
  connaissances	
  
d. J’en	
  sais	
  beaucoup	
  	
  
e. Je	
  suis	
  expert	
  en	
  la	
  matière	
  
f. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  r	
  répondre	
  

	
  
3. Que	
  pensez-­‐vous	
  de	
  la	
  façon	
  dont	
  votre	
  pays	
  combat	
  le	
  changement	
  climatique	
  ?	
  

a. Le	
  changement	
  climatique	
  est	
  une	
  priorité	
  é	
  nationale	
  et	
  c’est	
  normal	
  	
  
b. Le	
  changement	
  climatique	
  est	
  une	
  priorité	
  nationale	
  et	
  ce	
  n’est	
  pas	
  normal	
  
c. Le	
  changement	
  climatique	
  n’est	
  pas	
  une	
  priorité	
  nationale	
  mais	
  devrait	
  l’être	
  
d. Le	
  changement	
  climatique	
  n’est	
  pas	
  une	
  priorité	
  nationale	
  et	
  ne	
  devrait	
  pas	
  l’être	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  	
  

	
  
4. Votre	
  pays	
  devrait-­‐il	
  prendre	
  des	
  mesures	
  afin	
  de	
  réduire	
  ses	
  émissions	
  de	
  gaz	
  à	
  effet	
  de	
  

serre	
  ?	
  
a. Oui,	
  même	
  si	
  beaucoup	
  d’autres	
  pays	
  ne	
  prennent	
  pas	
  de	
  mesures	
  
b. Oui,	
  mais	
  seulement	
  si	
  beaucoup	
  d’autres	
  pays	
  prennent	
  des	
  mesures	
  
c. Non,	
  nous	
  ne	
  devrions	
  pas	
  intervenir	
  dans	
  ce	
  débat	
  	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  	
  

	
  
5. Un	
  accord	
  à	
  Paris,	
  devrait-­‐il	
  comporter	
  un	
  objectif	
  mondial	
  à	
  long	
  terme	
  pour	
  arriver	
  à	
  zéro	
  

émission	
  de	
  gaz	
  à	
  effet	
  de	
  serre	
  à	
  la	
  fin	
  de	
  ce	
  siècle	
  ?	
  
a. Oui,	
  et	
  il	
  devrait	
  	
  être	
  juridiquement	
  contraignant	
  pour	
  tous	
  les	
  pays	
  
b. Oui,	
  mais	
  il	
  devrait	
  être	
  juridiquement	
  contraignant	
  uniquement	
  pour	
  les	
  pays	
  

développés	
  et	
  émergents	
  	
  
c. Oui,	
  mais	
  il	
  devrait	
  	
  être	
  à	
  titre	
  volontaire	
  pour	
  chaque	
  pays	
  
d. Non	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
4.	
   L’équité	
  et	
  le	
  partage	
  des	
  efforts	
  
Ce	
  volet	
  concerne	
  les	
  responsabilités	
  communes	
  mais	
  différenciées	
  ainsi	
  que	
  les	
  capacités	
  
respectives	
  des	
  différents	
  pays.	
  
	
  

1. Quelle	
  serait	
  la	
  meilleure	
  base	
  pour	
  fixer	
  l’ambition	
  des	
  contributions	
  nationales	
  en	
  faveur	
  du	
  
climat	
  ?	
  

a. Les	
  émissions	
  historiques	
  (passées)	
  
b. Les	
  émissions	
  actuelles	
  ou	
  anticipées	
  
c. Les	
  capacités	
  économiques	
  actuelles	
  ou	
  futures	
  
d. Les	
  pays	
  ne	
  devraient	
  pas	
  	
  être	
  obligés	
  de	
  faire	
  des	
  contributions	
  nationales	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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2. Après	
  l’année	
  2020,	
  les	
  pays	
  à	
  haut	
  revenu	
  devraient-­‐ils	
  payer	
  plus	
  que	
  le	
  montant	
  convenu	
  
pour	
  l’atténuation	
  et	
  l’adaptation	
  des	
  pays	
  à	
  faible	
  revenu	
  (100	
  milliards	
  de	
  dollars	
  en	
  2020)?	
  
a. Oui	
  
b. Non	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
3. Les	
  contributions	
  du	
  secteur	
  privé	
  devraient-­‐elles	
  être	
  comptabilisées	
  dans	
  les	
  offres	
  de	
  

financement	
  de	
  la	
  part	
  des	
  pays	
  développés	
  ?	
  
a. Oui,	
  pour	
  une	
  somme	
  représentant	
  la	
  moitié	
  ou	
  plus	
  des	
  offres	
  	
  
b. Oui,	
  pour	
  une	
  somme	
  représentant	
  une	
  petite	
  partie	
  des	
  offres	
  	
  
c. Non	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
4. Tous	
  les	
  pays	
  en	
  développement	
  devraient-­‐ils	
  être	
  classés	
  dans	
  une	
  seule	
  catégorie,	
  comme	
  

c’est	
  le	
  cas	
  à	
  présent,	
  ou	
  les	
  pays	
  en	
  développement	
  les	
  plus	
  riches	
  devraient-­‐ils	
  faire	
  plus	
  
d’efforts	
  ?	
  
a. Tous	
  les	
  pays	
  en	
  développement	
  devraient	
  être	
  traités	
  de	
  la	
  même	
  manière	
  
b. Les	
  pays	
  en	
  développement	
  les	
  plus	
  riches	
  devraient	
  avoir	
  les	
  mêmes	
  responsabilités	
  que	
  

les	
  pays	
  développés	
  
c. Les	
  pays	
  en	
  développement	
  les	
  plus	
  riches	
  devraient	
  être	
  classés	
  dans	
  une	
  troisième	
  

catégorie,	
  avec	
  plus	
  de	
  responsabilités	
  que	
  les	
  pays	
  en	
  développement	
  les	
  plus	
  démunis	
  
mais	
  moins	
  de	
  responsabilités	
  que	
  les	
  pays	
  développés	
  

d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  
	
  

5. Considérez-­‐vous	
  que	
  seuls	
  les	
  pays	
  à	
  haut	
  revenu	
  doivent	
  contribuer	
  au	
  Fonds	
  Vert	
  pour	
  le	
  
Climat	
  ?	
  	
  
a. Oui	
  
b. Non,	
  les	
  pays	
  en	
  développement	
  les	
  plus	
  riches	
  devraient	
  contribuer	
  également	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
6. Les	
  efforts	
  des	
  pays	
  en	
  développement	
  devraient-­‐ils	
  dépendre	
  du	
  soutien	
  financier	
  des	
  pays	
  

développés	
  ?	
  
a. Oui,	
  complètement	
  
b. Oui,	
  en	
  partie	
  
c. Non	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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7. Les	
  autorités	
  locales,	
  y	
  compris	
  les	
  villes,	
  devraient-­‐elles	
  avoir	
  accès	
  aux	
  financements	
  du	
  
Fonds	
  Vert	
  pour	
  le	
  Climat	
  ?	
  
a. Oui	
  
b. Non,	
  seulement	
  les	
  gouvernements	
  nationaux	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
8. Lesquelles	
  des	
  options	
  suivantes,	
  un	
  accord	
  à	
  Paris	
  devrait-­‐il	
  comporter	
  afin	
  de	
  traiter	
  les	
  

pertes	
  et	
  dommages	
  liés	
  aux	
  impacts	
  du	
  changement	
  climatique	
  ?	
  	
  	
  
	
  

a. Un	
  fonds	
  spécial	
  devrait	
  être	
  mis	
  en	
  place	
  afin	
  de	
  payer	
  pour	
  ces	
  dommages	
  
b. Les	
  pays	
  devraient	
  	
  être	
  aidés	
  pour	
  mettre	
  en	
  œuvre	
  des	
  programmes	
  pour	
  limiter	
  ces	
  

dommages	
  
c. De	
  nouvelles	
  institutions	
  devraient	
  être	
  créées,	
  comme	
  un	
  tribunal	
  international	
  

climatique	
  pour	
  régler	
  les	
  demandes	
  relatives	
  aux	
  dommages	
  
d. Les	
  pays	
  devraient	
  souscrire	
  des	
  assurances	
  privées	
  
e. Le	
  secteur	
  privé	
  d’assurances	
  devrait	
  remplir	
  ce	
  rôle,	
  et	
  c’est	
  à	
  l’individu	
  (personne,	
  

entreprise,	
  	
  institution)	
  de	
  souscrire	
  une	
  assurance	
  ou	
  pas	
  
f. Il	
  ne	
  faut	
  rien	
  changer	
  
g. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
5.	
   Faire	
  des	
  promesses	
  en	
  faveur	
  du	
  climat	
  et	
  les	
  tenir	
  	
  
Ce	
  volet	
  concerne	
  le	
  défi	
  de	
  la	
  transparence,	
  du	
  compte-­‐rendu	
  des	
  progrès,	
  et	
  de	
  la	
  préparation	
  et	
  la	
  
mise	
  en	
  œuvre	
  des	
  programmes	
  et	
  des	
  actions.	
  

1. Pensez-­‐vous	
  qu’à	
  Paris,	
  les	
  pays	
  devraient	
  convenir	
  d’actualiser	
  leurs	
  engagements	
  en	
  faveur	
  
du	
  climat	
  tous	
  les	
  cinq	
  ans	
  ?	
  
a. Oui	
  
b. Non	
  	
  	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
2. Un	
  organisme	
  du	
  niveau	
  de	
  l’ONU	
  devrait-­‐il	
  être	
  autorisé	
  à	
  faire	
  des	
  bilans	
  pour	
  évaluer	
  la	
  

suffisance	
  et	
  l’équité	
  des	
  contributions	
  des	
  pays	
  ?	
  
a. Oui,	
  pour	
  chaque	
  pays	
  
b. Oui,	
  mais	
  seulement	
  au	
  niveau	
  global	
  pour	
  les	
  contributions	
  collectives	
  
c. Non	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
3. Selon	
  vous,	
  les	
  pays	
  devraient-­‐ils	
  avoir	
  le	
  droit	
  d’examiner	
  les	
  rapports	
  des	
  autres	
  pays	
  sur	
  

leurs	
  efforts	
  d’atténuation	
  et	
  d’adaptation	
  ?	
  
a. Chaque	
  pays	
  devrait	
  avoir	
  le	
  droit	
  d’inspecter	
  les	
  autres	
  
b. Oui,	
  mais	
  seuls	
  les	
  pays	
  donateurs	
  devraient	
  avoir	
  le	
  droit	
  d’inspecter	
  les	
  pays	
  qui	
  

reçoivent	
  les	
  financements	
  
c. Non,	
  cela	
  devrait	
  être	
  à	
  titre	
  volontaire	
  pour	
  chaque	
  pays	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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4. Un	
  accord	
  à	
  Paris	
  devrait-­‐il	
  comporter	
  des	
  objectifs	
  nationaux	
  à	
  court	
  terme	
  ?	
  

a. Oui,	
  et	
  ils	
  devraient	
  	
  être	
  juridiquement	
  contraignants	
  pour	
  tous	
  les	
  pays	
  
b. Oui,	
  mais	
  ils	
  devraient	
  être	
  juridiquement	
  contraignants	
  uniquement	
  pour	
  les	
  pays	
  

développés	
  	
  
c. Non,	
  cela	
  devrait	
  être	
  à	
  titre	
  volontaire	
  pour	
  chaque	
  pays	
  
d. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
5. Les	
  pays	
  devraient-­‐ils	
  publier	
  un	
  rapport	
  annuel	
  sur	
  leurs	
  émissions,	
  et	
  indiquer	
  le	
  progrès	
  

réalisé	
  dans	
  leurs	
  engagements	
  en	
  faveur	
  du	
  climat	
  ?	
  	
  
a. Oui,	
  tous	
  les	
  pays	
  devraient	
  publier	
  leurs	
  émissions	
  et	
  leurs	
  progrès	
  	
  	
  
b. Seuls	
  les	
  pays	
  développés	
  devraient	
  être	
  obligés	
  de	
  publier	
  un	
  rapport	
  public	
  tous	
  les	
  ans	
  	
  
c. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
6.	
  	
   Questions	
  d’évaluation	
  

1. Les	
  vidéos	
  et	
  les	
  documents	
  fournis	
  étaient-­‐ils	
  équilibrés	
  et	
  instructifs	
  ?	
  
a. Oui,	
  tout	
  à	
  fait	
  
b. Oui	
  
c. Non	
  
d. Pas	
  du	
  tout	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
2. Des	
  points	
  de	
  vue	
  différents	
  et	
  opposés	
  ont-­‐ils	
  été	
  exprimés	
  et	
  débattus	
  à	
  votre	
  table	
  ?	
  

a. Oui,	
  tout	
  à	
  fait	
  
b. Oui	
  
c. Non	
  
d. Pas	
  du	
  tout	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
3. Etes-­‐vous	
  globalement	
  satisfait	
  de	
  l’organisation	
  du	
  processus	
  du	
  Débat	
  Citoyen	
  Planétaire	
  

(World	
  Wide	
  Views)	
  dans	
  votre	
  pays	
  ?	
  
a. Oui,	
  tout	
  à	
  fait	
  
b. Oui	
  
c. Non	
  
d. Pas	
  du	
  tout	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
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4. Pensez-­‐vous	
  que	
  les	
  résultats	
  du	
  Débat	
  Citoyen	
  Planétaire	
  (World	
  Wide	
  Views)	
  seront	
  utiles	
  
au	
  processus	
  de	
  décision	
  de	
  la	
  COP	
  21	
  ?	
  	
  
a. Oui,	
  tout	
  à	
  fait	
  
b. Oui	
  
c. Non	
  
d. Pas	
  du	
  tout	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  
5. Pensez-­‐vous	
  que	
  des	
  processus	
  de	
  dialogue	
  comme	
  le	
  Débat	
  Citoyen	
  Planétaire	
  (World	
  Wide	
  

Views)	
  devraient	
  être	
  organisés	
  afin	
  de	
  traiter	
  d’autres	
  sujets	
  et/ou	
  des	
  sujets	
  similaires	
  ?	
  
a. Oui,	
  tout	
  à	
  fait	
  
b. Oui	
  
c. Non	
  
d. Pas	
  du	
  tout	
  
e. Ne	
  sais	
  pas	
  /	
  Ne	
  souhaite	
  pas	
  répondre	
  

	
  


